
Math 4300

Homework 6[Solutions



⑧A =(0,0),B =(- 1,1),c =(1,1)

Note thatB =L,0, C=2,0,52=Lo,
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8A =(1,2),B
=(1,4),c =(3,4)
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Note that

B =, L L 4,47

From HWs we saw
thatIC=shaws

One can check that
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We have that

LABC=BAUBC =BC UBA <CBAP
P property efdef Wofunionof set s

⑯We have that
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Thus, WABC:

ABUFCUEA=DACB.

I eThe other equalities
all have a similar

Proof. Try
itout. rest



④LetB, I be points with BFZ.
Letl =BE.

Letfil-Ibe
a ruler with

f(B) =0 and f(E) >0.

Lett
=f(z) +1.

Since
ofis onto, there

exists a

pointDel with
f(D) =A.

then,

(f(z) < f(D)f(B) -
m f(z) +1

1

Thus, B-Z-D.

t =f(z) +1

0

a


